
English
Instructions for rackmounting a server and installing
the cable management arm are included with your
server.

You can also locate documentation online at:
http://docs.sun.com
For additional support, see your local authorized
Sun™ sales representative or reseller.

Important Note
To install a server into a cabinet requiring M6
screws, see the rackmounting instructions included
with your server. Where the instructions specify 10-
32 screws, use the M6 screws included in the rack kit
box. Use a Phillips No. 2 screwdriver with the M6
screws. Replace the 10-32 captive screws (if present)
on the front trim panel with M6 screws before you
install the server into the cabinet.

Français
Les instructions de montage du serveur dans une
armoire et d'installation du bras de gestion des
câbles sont fournies avec le serveur.

Une documentation est également disponible en
ligne, à l’adresse suivante :
http://docs.sun.com
Pour une assistance supplémentaire, consultez votre
revendeur ou votre interlocuteur commercial agréé
Sun™.

Remarque importante
Pour installer un serveur dans une armoire
nécessitant des vis M6, référez-vous aux instructions
de montage fournies avec le serveur. Lorsque les
instructions mentionnent des vis 10-32, utilisez à la
place les vis M6 incluses dans le kit de montage en
armoire. Utilisez un tournevis Phillips n˚2 avec les
vis M6. Remplacez les (éventuelles) vis imperdables
10-32 du panneau d'habillage avant par des vis M6
avant d'installer le serveur dans l'armoire.

Deutsch
Anleitungen zum Rackeinbau des Servers und zur
Montage des Kabelführungsarms finden Sie in den
Unterlagen zu Ihrem Server.

Sie können die Dokumentation auch online abrufen
unter:
http://docs.sun.com
Wenn Sie weitere Unterstützung benötigen, wenden
Sie sich bitte an den nächsten autorisierten Sun™
Vertriebsbeauftragten oder Händler.

Wichtiger Hinweis
Wenn Sie einen Server in ein Gehäuse einbauen
möchten, für das M6-Schrauben erforderlich sind,
lesen Sie die Anleitung zum Rackeinbau, die mit
Ihrem Server geliefert wurde. Wenn in den
Anweisungen von 10-32-Schrauben die Rede ist,
verwenden Sie die M6-Schrauben aus der
Rackmontagekiste. Verwenden Sie für die M6-
Schrauben einen Kreuzschlitzschraubendreher Nr. 2.
Ersetzen Sie die 10-32-Halteschrauben (falls
vorhanden) in der Frontblende durch M6-
Schrauben, bevor Sie den Server in das Gehäuse
einbauen.

Italiano
Le istruzioni relative al montaggio su rack di un
server e all'installazione di un braccio di gestione del
cavo sono incluse nel server.

È possibile anche fare riferimento alla
documentazione in linea all'indirizzo:
http://docs.sun.com
Per ulteriore assistenza, contattare il rappresentante
o il rivenditore autorizzato Sun™ locale.

Nota importante
Per installare un server in un cabinet che richiede
viti M6, vedere le istruzioni per il montaggio su rack
fornite con il server. Quando le istruzioni indicano le
viti 10-32, utilizzare le viti M6 incluse nella
confezione del kit del rack. Utilizzare un cacciavite
Phillips n. 2 con le viti M6. Sostituire le viti 10-32 (se
presenti) sul pannello frontale con le viti M6 prima
di installare il server nel cabinet.

Español
Con el servidor se proporcionan instrucciones para
su montaje en bastidor y para la instalación del
brazo de gestión de cables.

También puede encontrar documentación en línea en
la dirección siguiente:
http://docs.sun.com
Si desea obtener asistencia adicional consulte con su
distribuidor o con su representante local autorizado
de ventas para Sun™.

Nota importante
Para instalar el servidor en el bastidor NGR, siga las
instrucciones de montaje suministradas con el
servidor. Donde las instrucciones especifiquen
tornillos 10-32, utilice los tornillos M6 suministrados
con la caja del kit del bastidor. Utilice un
destornillador Philips del n.º 2 con los tornillos M6.
Sustituya los tornillos cautivos 10-32 (si los hay) del
panel de ajuste frontal por tornillos M6 antes de
instalar el servidor en el bastidor.

Svenska
Anvisningar för hur du rackmonterar en server och
installerar kabelhanteringsarmen medföljer servern.

Det finns också dokumentation online på:
http://docs.sun.com
Om du vill ha mer support kontaktar du en lokal,
auktoriserad Sun™-representant eller -återförsäljare.

Viktigt
Anvisningar för hur du installerar en server i ett
kabinett som kräver M6-skruvar finns i de
rackmonteringsanvisningar som medföljer servern.
Där anvisningarna nämner 10-32-skruvar ska du
använda de M6-skruvar som medföljer i rackets
förpackning. Använd stjärnskruvmejsel nr. 2 med
M6-skruvarna. Byt ut 10-32-skruvarna (om det finns
några) på fronttrimpanelen med M6-skruvar innan
du installerar servern i kabinettet.



Sun Microsystems, Inc., 4150 Network Circle, Santa Clara, CA
95054 USA 650 960-1300, Fax 650 969-9131

Please
Recycle

Copyright 2002 Sun Microsystems, Inc. All rights
reserved. Use is subject to license terms. Third-party
software, including font technology, is copyrighted and
licensed from Sun suppliers. Sun, Sun Microsystems, the
Sun logo, Solaris, and Sun Fire are trademarks or
registered trademarks of Sun Microsystems, Inc. in the
U.S. and other countries. Federal Acquisitions:
Commercial Software—Government Users Subject to
Standard License Terms and Conditions.

Copyright 2002 Sun Microsystems, Inc. Tous droits
réservés. Distribué par des licences qui en restreignent
l’utilisation. Le logiciel détenu par des tiers, et qui
comprend la technologie relative aux polices de
caractères, est protégé par un copyright et licencié par des
fournisseurs de Sun. Sun, Sun Microsystems, le logo Sun,

Solaris, et Sun Fire sont des marques de fabrique ou des
marques déposées de Sun Microsystems, Inc. aux Etats-
Unis et dans d’autres pays.

Part Number 816-0906-13
October 2002, Revision A

Rackmounting Instructions

Instructions de montage dans une
armoire

Anleitungen zum Rackeinbau

Istruzioni per il montaggio su rack

Instrucciones de montaje en bastidor

Rackmonteringssanvisningar


